Secondary III 4-2 HW		Name: ___________________

[bookmark: _GoBack]Adding and Subtracting Rational Expressions


Find the LCD for each set of rational expressions



			




Add or subtract the given expressions, simplifying each result and stating the combined excluded values
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27. The junior and senior classes of a high school are cleaning 
up a beach. Each class has pledged to clean 1600 meters of 
shoreline. The junior class has 12 more students than the 
senior class. Let s represent the number of students in the 
senior class. Write and simplify an expression in terms of s 
that represents the difference between the number of meters 
of shoreline each senior must clean and the meters each 
junior must clean.



28. Architecture The Renaissance architect Andrea Palladio believed that the height of 
a room with vaulted ceilings should be the harmonic mean of the length and width. 



  The harmonic mean of two positive numbers a and b is equal to   2 ____ 
  1 __ a   +   1 __ b  



  . Simplify this 



  expression. What are the excluded values? What do they mean in this problem?



29. Match each expression with the correct excluded value(s).



  a.   3x + 5 _ x + 2        no excluded values



  b.   1 + x _ 
 x  2  - 1



        x ≠ 0, -2



  c.   3 x  4  - 12 _ 
 x  2  + 4



        x ≠ 1, -1



  d.   3x + 6 _ 
 x  2  (x + 2)         x ≠ -2
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H.O.T.  Focus on Higher Order Thinking



30. Explain the Error George was asked to write the expression 2x - 3 with excluded 
values placed one at a time at x = 1, x = 2, and x = -3. He wrote the following 
expressions:



  a.   2x - 3 _ x - 1  



  b.   2x - 3 _ x - 2  



  c.   2x - 3 _ x + 3  



  What error did George make? Write the correct expressions, then write an expression 
that has all three excluded values.



31. Communicate Mathematical Ideas Write a rational expression with excluded 
values at x = 0 and x = 17.



32. Critical Thinking Sketch the graph of the rational equation y =    x  2  + 3x + 2
 ________ x  + 1  . Think 



  about how to graphically show that a graph exists over a domain except at one point.
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1. 4x +12
(x + 3)(x + 2)



and 5x +15
10x + 20
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